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Kviz na prestavku

= Odvodte na zakladé nasledujicich indicii priblizny
promitnuty (projected) prostorovy uhel, pod kterym
vidime Slunce

+ luminance arriving on a surface from a tull (overhead) sun 1s
300,000 x luminance arriving from the blue sky, but the sun
occupies only a small fraction of the sky

+ illuminance on a sunny dav = 80% from the sun + 20% from
blue sky, so shadows are 1/5 as bright as lit areas (2.3 {/stops)

= Predpokladejte Ze Slunce je v zenitu a Ze je
Lambertovskym emitorem.
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Zakon odrazu

= Odvodte smér odrazeného paprsku
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Fyzikalné korektni Phongiuv model

= Odvodte odrazivost Phongovy BRDF pri pohledu podél

normaly:
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